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5000
A& HIEtE I 31,490,526 32,590,526| 21,100,000
5100
K& TH &2t 31,490,526 32,590,526| 1,100,000
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RPN PR 31,490,526 32,590,526| 21,100,000
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Kl RH &f 8 31,490,526 32,590,526/ 1,100,000
300
et at 31,490,526 32,590,526| 21,100,000
310
XI2hTH & & 31,490,526 32,590,526| 1,100,000
311
X =0l At 6,060,526 7,160,526| 21,100,000
1,612,250 2,712,250  A1,100,000|01 AI=XISHE I =S At=2a201 A
SN AXEENS = A1,100,000
601
A== 25,430,000 25,430,000 0
18,380,000 15,550,000 2,830,00001 AISXISIHE IS A =4tet
oot+=Z2 Xl
3,330,000,000& - 500,000,000& = 2,830,000




ZH: (5000) XI R LOIEFE 2:(5100) Kl TH & & 8 (5110) XI 24 XK & & Mg (5111) XY TH &L & NIAIEE: (310) X &4 & [NE] [ 2]

ni = b = Hi ml
o & = &b = J| E
2 & Mg MAE == of & o = A 2
5,930,000 8,760,000 A2,830,00004 SUEEXLS A4
oHOIZSE2SE = A600,000
osgHIALIA =4 = A 800,000
o '97~'99 XlgtE A
2,800,000,000& - 3,490,000,000& = A690,000
oWHIGANMESE S =4
160,000,000& - 900,000,000 = AT740,000
MH & & A 31,490,526 32,590,526 A1,100,000
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